HERER1/2)

(f8h)
4 g Rl G || =W (VAT B i & & i

As

SO L t=15cmLA T m 565 570
As

EfiE I L t=15cm~30cmbA F m 89.75 90

TGIRALSS T m3 1.70 2.0
As

LR E BRI EIFE A T AR A nt 2,176 2,180
FEWREIA

FRBLALY T AsHi T nt 243 243
FEWREIA

FEBLALY T Cotil 2T m

R BESE Iy B AsHil n 243 243

R BESE Iy B Coit o

RS IE T TR L nt 940 940
3.0m<B

T M-30 A 12cm nt 173 173

RS IE T M-30 A 3em nt 1,063 1,060

RS IE T RC-40 A 3em i

RS IE T M-30 A Lem i

HH

AR T RC-40 t=15cm i
3.0m<B HH

T M-30 t=10cm ot 739 739
3.0m<B HH

T M-30 t=13cm ot 136 136
B<1.4m HxE

T M-30 t=10cm i
3.0m<B

#E L EREASKE I (20) | t=5cm ot 1,802 1,800
3.0m<B

g T FERLRIEEAS (20) | t=bem n 1,802 1,800
B<1.4m

E=HN FAEERIEAs(13) | t=4em ot
1.4<B=<3.0m

#E L FAESKIEAs(13) | t=4cm ot
3.0m<B

#E L FAESKIEAs(13) | t=4cm ot
3.0m<B

E=HN FAEEKIEAs(13) | t=5em ot 309 309

BEA AR HI L m 105 110

Ay T nt 105 110




BERFER(2/2)

B AR HL % B® A % &
B<1.4m
FAEBREAs (13) | t=3cm n 65 65 |AxE
1.4=<B=3.0m
FAESRIEAs(13) | t=3cm nf HAE
HE
RC-40 t=12cm nt 33 33 | HE
X jij 5 T Hfa S t=15cm m 529 529
DX R T M FER t=30cm m
X i T A AR t=15cm m 8 8
X[ T Hf, 79 t=30cm m 5 5
X[ T A 77 t=45cm m 98 98
X i T e R t=15cm m 389 390
Mt
X[ T JHl-F 0T t=15ema A m 62 62
i
X jij 5 T Sl E R 0E | t=15cmifaE m 20 20




BEEHEA/2)

(#iBh)
B> A H.3 SR SR

As

EhEE UMW T t=15cmPL T 521.43 43.60 565.03
As

EhZE UMW T t=15cm~30cmBA F 89.75 89.75

15Ty T 0.35 1.32 0.03 1.70
As

SRR R U RDA T BRARA 308.85 | 1802.21 65.40 2176.46
FEAREIA

BN T Al Fo T 42.13 199.00 1.96 243.09
FEARIA

BB T CoBl  #o T - -

ERRBEED L E | AsHE 42.13 199.00 1.96 243.09

R BEEEM A3 Coll - -

BRI T MM L 135.81 738.81 65.40 940.02
e R 12cm

BT M-30 173.04 - 173.04
&M 3em

RREFEIE T M-30 - 1063.40 1063.40
&AM 3em

RS IE T RC-40 - -
&M Lem

RS IE T M-30 - -
HE

AT RC-40 - -
HE

BT M-30 - 738.81 738.81
HE

BT M-30 135.81 - 135.81
HRiE

BT M-30 - -
t=bcm

FET R AsECRE 1T - 1802.21 1802.21
t=bcm

FEET FIAEHLRIIEAS (20) - 1802.21 1802.21
t=4cm

“EL PR RIEAs (13) - -
t=4cm

“EL PR RIEAs (13) - -
t=4cm

“EL PR RIEAs (13) - -
t=bcm

FET FIEERIEAs (13) 308.85 - 308.85

Bk HI T 11.73 89.54 3.93 105.20

Pty T 11.73 89.54 3.93 105.20




HMELEFHF(2/2)

(i 8h)
. [E8T) 85} HIE T AT P~
oo AR W) e A TR | G (e
t=3cm
*E T FAEBRIEEAS (13) 65.4 65.40
t=3cm
*E T FAEERLEAs (13)
HR3E
AR T RC-40 32.7 32.70
X i L SRS 132.1 396.6 528.70
X Hi#R T B ER
X Hi#R T B i 8.0 8.00
X Hi#R T HE Prs 5.3 5.30
X Hi#R T HE Prs 52.0 46.4 98.40
X Hi#R T T FER 34.0 355.0 389.00
M
X Hi#R T KHEIEE - XTF 32.6 28.9 61.50
i
X Hi#R T KHEI-EE-XTF 19.8 19.80




B HESE

(i Bh) [FTEr 1, FrEF 2, K1 TR ]EENS (BiE)
4 i G| it B = HAL % &
TAT7 Ik
ShLERR BT T t=15cmPL F m 521.43
arv7y—hr
Al R Y b T t=15cmlL T m —
BlERR As+Con
EHERE DA T o —
BlERR As+Con
EEERE DA T TAZ7Vb 47697 + 1,325.24 nt 1,802.21
FRLALSr T, AsHlL 476.97 X 0.05
6.24 X 0.10
321.98 X 0.11
522.06 X 0.13
474.96 X 0.15
&Et= m’ 199.00
LR PEA R AsHll m’ 199.00
REESEE T AR L nt 738.81
ARREHEIE T ERR S
(i @44 3cm) t=10cm 4.32 X 0.00 = 0.00
t=11lcm 261.98 X 0.01 = 2.62
t=13cn 402.06 X 0.03 = 12.06
t=15cm 395.04 X 0.05 = 19.75
HEtv= 34.43
HEtA= 1,063.40
WA ARV /A= 0.03
o 1,063.40
P T
(R TAREZE ) 476.97 X 0.15 = 71.55
m’ 71.55
AT PRI (RERX SR
(B TRBME IR 4Y) t=10(10) 1.92 X 0.10 = 0.19
t=9(11) 60.00 X 0.09 = 5.40
t=7(13) 120.00 X 0.07 = 8.40
t=5(15) 79.92 X 0.05 = 4.00
HEtv= 17.99
m’ 17.99
- JE AR T 3.0m<B
(t=10cm) M-30 476.97+261.84 o 738.81
#E T 3.0m<B
(t=5cm) SR IR, AR B RLEE As(20) nt 1,802.21
g T 3.0m<B
(t=5cm) FEAHURIEEAS(20) o 1,802.21
S T [=8km 71.55+17.99 m® 89.54




B HESE

(i 8h) [y A 2 T X 158 (FE3H)
4 i G| it B = HAL % &
TAT7 Ik
EhEERREI T T t=15cmPA T m 89.75
aryy—hr
R BT T t=15cmLA T m —
SRR As+Con
BRI AGA T o —
SRR As+Con
EEERE DA T TAZ7)Vh 86.43 + 222.42 nt 308.85
FEBLALY T AsBl 86.43 X 0.05 + 222.42 X 0.17
&Et= m’ 42.13
LR PEA R AsHll m’ 42.13
AR E T AR L nt 135.81
ARREHEIE T ERR S
(F At 12cm)
F75mm <tD7= ¥ FAE T.LUCEF |k
t=17cn 173.04 X 0.12 = 20.76
HEtv= 20.76
HEtA= 173.04
A TRV /A= 0.12
o 173.04
P T
(R TAREZE ) t=13cm 86.43 X 0.13 11.24
m’ 11.24
T R (UERR SN
(B TRBME IR 4Y) t=1017) 49.38 X 0.01 0.49
HEtv= 0.49
m’ 0.49
- JE AR T 3.0<B
(t=13cm) M-30 86.43+49.38 o 135.81
#E T 3.0<B
(t=5cm) PRI As (13) nt 308.85
ERET 3.0<B
n,f _
T T L=8km 11.24+0.49 m’ 11.73




B HEREE

(fBh) (2T X 1R3E (33E)
4 b Rl EH) B = AL %% &
TAT7Vh
Sl SERR B T t=15cmPA F m 43.60
ar7y—h
AREERR G T t=15cmPL T m _
EiHERR As+Con
BRI AEHA T TAZ7/Lk 19.65 + 45.75 of 65.40
EiHERR As+Con
BRI AEHA T hel —
ALY T AsH 19.65 X 0.03 + 45.75 X 0.03
&8F= m* 1.96
PRI T Astl
ait= m’ —
FEHAL 3 T. Condhl m? _
FEHAL Sy 1. Condh m? _
R PE AL Ashifl m’ 1.96
BB AL Condifl m? _
Hi A t=2cm
AR IE T ni —
M 72L
PERETE T ot 65.40
AR IE T ni —
HRHI T
t=12cm 32.73 X 0.12 = 3.93
aitv= 3.93
aita= 32.73
m’ 3.93
HiE
e T RC-40 t=12cm n 32.73
HiE
FERaE T M-30 t=10cm n —
FET HiE
(t=3cm) FREFREAs(13) t=3cm nt 65.40
FET HiE
(t=5cm) FFAEFERLEAS(13) nt
T L=8km m’ 3.93




HEHESF

[ Rl TR E (F3E)
(i 8h)
P i S &t " X B &
(X R T.)
K1 T Ml No.0~No.6+12.5
At FE# | t=15ecm [L = 132.5
K1 LXK SMAE No.7+6.9~E.P
L = 228.1
RAPLTK SMAK BT 2
L = 36.0
m
396.6
1L SR
Bk | t=15em |L = 2.0 + 6.0
8.0
FKHITX {51k
Ht-¥77 t=30cm |L = 2.6 + 2.7
m
5.3
KA1 TX FRTHIE
H-P7I t=45cm |L = 12.0 + 224 + 12.0
m
46.4
RKMITR st No.0~No.6+6.9
Mt ER | t=15em |L = 126.9
KAITLX feft  No.7+6.9~E.P
L = 228.1
m
355.0
A KA TRK Jod~—2
XF s [=15emME | L = 28.9
m
28.9




% B

iR F

Frf B FH 2 T X
(HfiBh)
4 B BLOR #t " = M &
(KE#RT)
2TX  HERHREM 2TX AR mAMilHR
B %8 | t=15em = 99 + 7.7 + 10,1 + 89 + 4.0 + 46 + 4.6
2T [XNo.1+8.7~No.5+11.0 m
+  82.3 132.1
2T X REWrE
Hf-Y~7J] t=45cm = 15.2 + 11.2 + 144 +  11.2
m
52.0
2TX No.4~No.5+11.0 2T.[X No.2+4.5~No.2+7.5
HifhFER | t=15cm = 31.0 + 3.0
m
34.0
=EE) 2TX ARZERHL 2TX ZRFERKE 2TX HEZ#H~—7
W eFR R |t=15cm¥A s = 19.97 + 5.0 + 1.9 X 4.0
m
32.6
w B F R0
LFeFE e [t=15emitnE = 19.8
m
19.8




0T

&

T

T

Tk (#8h)
. BEELT EH T EERBT EHT- EERBT AEET )
IR W R BB B ; y Yy , SR i =
KB TGS REIHEHEIRSS PR TR SRSy BT RREIRSS EBT. ZEI(t=5cm)
=] G =] il =] il =] il =] il L
[HE B 1% 5em AL L4 5]
AT 2% FH | No. 1.05 1.95 1.05 0.60 3.00 3.20
1 |No. + 3.20 3.20 1.05 3.36 1.95 6.24 1.05 3.36 0.60 1.92 3.00 9.60 3.20 |AsEifidt t =10cm
No.
No.
FTEFH([No. 0+ - - - - -
2 |[No.1 + 8.70 28.70 - 61.11 - 236.29 - 61.11 - 34.92 - 297.40 88.38 |Ashilid t =15cm
No.
No.
R [No. 0 1.10 2.30 1.10 0.60 3.40 3.40
1 [No.1 20.00 1.10 22.00 2.10 44.00 1.10 22.00 0.60 12.00 3.20 66.00 20.00 |As#ilid t =13cn
F#h |No. 1 1.10 2.10 1.10 0.60 3.20
1 [No.1 + 6.10 6.10 1.10 6.71 2.15 12.96 1.10 6.71 0.60 3.66 3.25 19.67 6.10 |AsEifidt t =13cm
FK#h [No. 1 +  6.10 1.10 2.40 1.10 0.60 3.50
1 |No.1 + 16.10 10.00 1.10 11.00 2.55 24.75 1.10 11.00 0.60 6.00 3.65 35.75 10.00 [AsEifidt t =13cn
FK#h [No. 1 + 16.10 1.10 2.25 1.10 0.60 3.35
1 |No. 2 3.90 1.10 4.29 2.20 8.68 1.10 4.29 0.60 2.34 3.30 12.97 3.90 |Asifidt t =13cm
F#h [No. 2 1.10 2.20 1.10 0.60 3.30
1 [No. 3 20.00 1.10 22.00 2.25 44.50 1.10 22.00 0.60 12.00 3.35 66.50 20.00 |As#ilid t =13cn
F#h [No. 3 1.10 2.25 1.10 0.60 3.35
1 [No.3 + 0.80 0.80 1.10 0.88 2.30 1.82 1.10 0.88 0.60 0.48 3.40 2.70 0.80 |Asifidt t =13cm
FK#h [No. 3 +  0.80 1.10 2.60 1.10 0.60 3.70
1 [No.3 + 8.20 7.40 1.10 8.14 2.65 19.43 1.10 8.14 0.60 4.44 3.75 27.57 7.40 |Ashilid t =13cm
R [No. 3 +  8.20 1.10 2.40 1.10 0.60 3.50
1 [No. 4 11.80 1.10 12.98 2.35 28.03 1.10 12.98 0.60 7.08 3.45 41.01 11.80 [Asifidt t =13cm
R [No. 4 1.10 2.35 1.10 0.60 3.45
1 [No.5 20.00 1.10 22.00 2.35 47.00 1.10 22.00 0.60 12.00 3.45 69.00 20.00 |As#ilid t =13cn
F#h [No. 5 1.10 2.35 1.10 0.60 3.45
1 [No.5 + 8.90 8.90 1.10 9.79 2.35 20.92 1.10 9.79 0.60 5.34 3.45 30.71 8.90 |Asifidt t=1lcm
R [No. 5 +  8.90 1.10 7.25 1.10 0.60 8.35 3.90
1 [No.5 + 11.90 3.00 1.10 3.30 7.25 21.75 1.10 3.30 0.60 1.80 8.35 25.05 3.90 |Asifidt t=1lcm




WEmEMNREF

!

Tk (#8h)
T " A B ‘ LT : EHUI-J:EE?%I EHUI-J:E/E%%I AERT P— . -
KB TIRGHES RETHEEHEBS ot M A BT HREERS ZBE T, REI(t=5cm)
= [ = [ = [ = [ = [ SER:

K |No. 5+ 11.90 1.10 2.35 1.10 0.60 3.45

1 |No. 6 8.10 1.10 8.91 2.45 19.44 1.10 8.91 0.60 4.86 3.55 28.35 8.10 |Askiit: t =1lcm
K4 |No. 6 1.10 2.45 1.10 0.60 3.55

1 |No.6 + 8.60 8.60 1.10 9.46 2.45 21.07 1.10 9.46 0.60 5.16 3.55 30.53 8.60 |AskHit: t =1lcm
K# |No. 6 + 8.60 1.10 5.20 1.10 0.60 6.30 3.30

1 [No.6 + 11.60 3.00 1.10 3.30 5.20 15.60 1.10 3.30 0.60 1.80 6.30 18.90 3.30 |AsEiit: t =1lcm
K# |No. 6 + 11.60 1.10 2.70 1.10 0.60 3.80

1 [No.6 + 12.50 0.90 1.10 0.99 2.70 2.43 1.10 0.99 0.60 0.54 3.80 3.42 0.90 |AsEiit: t =1lcm
K |No. 6+ 12.50 1.10 2.70 1.10 0.60 3.80

1 [No.6 + 14.50 2.00 1.10 2.20 6.40 9.10 1.10 2.20 0.60 1.20 7.50 11.30 2.00 |AsEit: t =1lcm
K# |No. 6+ 14.50 1.10 6.40 1.10 0.60 7.50

1 [No. 7 5.50 1.10 6.05 6.40 35.20 1.10 6.05 0.60 3.30 7.50 41.25 5.50 |AsEiit: t =1lcm
K |No. 7 1.10 6.40 1.10 0.60 7.50

1 [No.7 + 0.70 0.70 1.10 0.77 6.40 4.48 1.10 0.77 0.60 0.42 7.50 5.25 0.70 |AsEiit: t =1lcm
K# |No. 7+ 0.70 1.10 6.40 1.10 0.60 7.50

1 [No.7 + 2.60 1.90 1.10 2.09 3.85 9.74 1.10 2.09 0.60 1.14 4.95 11.83 1.90 [As#mizt t =1lcm
K |No. 7+ 2.60 1.10 3.85 1.10 0.60 4.95

1 |No.7 + 6.90 4.30 1.10 4.73 2.05 12.69 1.10 4.73 0.60 2.58 3.15 17.42 4.30 |AsEit: t =1lcm
K |No. 7+ 6.90 1.10 2.45 1.10 0.60 3.55

1 [No.7 + 14.50 7.60 1.10 8.36 2.45 18.62 1.10 8.36 0.60 4,56 3.55 26.98 7.60 |AshizE t =1lcm
K |No. 7+ 14.50 1.10 5.95 1.10 0.60 7.05 3.50

1 [No.7 + 17.50 3.00 1.10 3.30 5.95 17.85 1.10 3.30 0.60 1.80 7.05 21.15 3.50 |AsEit: t =1lcm
K# |No. 7+ 17.50 1.10 2.45 1.10 0.60 3.55

1 [No. 8 2.50 1.10 2.75 2.45 6.13 1.10 2.75 0.60 1.50 3.55 8.88 2.50 |AsEit: t =1lcm
K |No. 8 1.10 2.45 1.10 0.60 3.55

1 |No.9 20.00 1.10 22.00 2.45 49.00 1.10 22.00 0.60 12.00 3.55 71.00 20.00 [AszE t =1lcm
K |No. 9 1.10 2.45 1.10 0.60 3.55

1 |No.9 + 1.20 1.20 1.10 1.32 2.45 2.94 1.10 1.32 0.60 0.72 3.55 4.26 1.20 |As#fizt t =1lcm
K |No. 9 +  1.20 1.10 5.70 1.10 0.60 6.80 3.25

1 [No.9 + 4.20 3.00 1.10 3.30 5.70 17.10 1.10 3.30 0.60 1.80 6.80 20.40 3.25 |AsEiit: t =1lcm
K |No. 9+ 4.20 1.10 2.45 1.10 0.60 3.55

1 |No. 10 15.80 1.10 17.38 2.35 37.92 1.10 17.38 0.60 9.48 3.45 55.30 15.80 |AsEii%: t =1lcm




¢l

&

T

T

Tk (#8h)
T " A B ‘ LT : EHUI-J:EE?%I EHUI-J:E/E%%I AERT P— . -
KB TIRGHES RETHEEHEBS ot M A BT HREERS ZBE T, REI(t=5cm)
= [ = [ = [ = [ = [ SER:

K# |No. 10 1.10 2.35 1.10 0.60 3.45

1 [No.10 + 0.50 0.50 1.10 0.55 2.35 1.18 1.10 0.55 0.60 0.30 3.45 1.73 0.50 |AsEiit: t =13cm
K# |No. 10 +  0.50 1.10 5.35 1.10 0.60 6.45

1 [No.10 + 4.50 4.00 1.10 4.40 5.35 21.40 1.10 4.40 0.60 2.40 6.45 25.80 4.00 |AsEit: t =13cm
K# |No. 10 +  4.50 1.10 2.35 1.10 0.60 3.45

1 [No.10 + 17.60 13.10 1.10 14.41 2.20 29.80 1.10 14.41 0.60 7.86 3.30 44.21 13.10 |Askifi% t =13cm
K#h |No. 10 + 17.60 1.10 5.35 1.10 0.60 6.45 3.15

1 [No. 11 2.40 1.10 2.64 5.35 12.84 1.10 2.64 0.60 1.44 6.45 15.48 AsiliZE t =13cm
Kk |No. 11 1.10 5.35 1.10 0.60 6.45

1 [No. 1l + 0.60 0.60 1.10 0.66 5.35 3.21 1.10 0.66 0.60 0.36 6.45 3.87 3.15 |Askiit: t =13cm
K# |No. 11 +  0.60 1.10 2.20 1.10 0.60 3.30

1 [No. 11 + 12.00 11.40 1.10 12.54 2.30 25.65 1.10 12.54 0.60 6.84 3.40 38.19 11.40 |AsEit: t =13cm
K# |No. 11 + 12.00 1.10 5.45 1.10 0.60 6.55 3.15

1 [No. 1l + 15.00 3.00 1.10 3.30 5.45 16.35 1.10 3.30 0.60 1.80 6.55 19.65 3.15 |Askiit: t =13cm
K# |No. 11 + 15.00 1.10 2.30 1.10 0.60 3.40

1 [No. 12 5.00 1.10 5.50 2.30 11.50 1.10 5.50 0.60 3.00 3.40 17.00 5.00 |AsEt: t =13cm
K |No. 12 1.10 2.30 1.10 0.60 3.40

1 [No.12 + 6.90 6.90 1.10 7.59 2.30 15.87 1.10 7.59 0.60 4,14 3.40 23.46 6.90 |AsEiit: t =13cm
K |No. 12 +  6.90 1.10 5.50 1.10 0.60 6.60 3.20

1 [No.12 + 9.90 3.00 1.10 3.30 5.50 16.50 1.10 3.30 0.60 1.80 6.60 19.80 3.20 |AsEit: t =13cm
K |No. 12+ 9.90 1.10 2.30 1.10 0.60 3.40

1 [No.13 + 10.10 1.10 11.11 2.00 21.72 1.10 11.11 0.60 6.06 3.10 32.83 10.10 |AsEii%: t =13cm
K |No. 13 + 1.10 2.00 1.10 0.60 3.10

1 |No. 13 + 6.40 6.40 1.10 7.04 2.00 12.80 1.10 7.04 0.60 3.84 3.10 19.84 6.40 |AsEit: t =13cm
K |No. 13 +  6.40 1.10 5.00 1.10 0.60 6.10 3.00

1 [No.13 + 9.40 3.00 1.10 3.30 5.00 15.00 1.10 3.30 0.60 1.80 6.10 18.30 3.00 |AsEit: t =13cm
K |No. 13 +  9.40 1.10 2.00 1.10 0.60 3.10

1 [No. 14 + 10.60 1.10 11.66 2.00 21.20 1.10 11.66 0.60 6.36 3.10 32.86 10.60 |AsEiit: t =13cm
K |No. 14 + 1.10 2.00 1.10 0.60 3.10

1 [No.14 + 9.60 9.60 1.10 10.56 2.00 19.20 1.10 10.56 0.60 5.76 3.10 29.76 9.60 |Askiit: t =13cm
K |No. 14 +  9.60 1.10 6.90 1.10 0.60 8.00 4.85

1 |[No. 14 + 14.80 5.20 1.10 5.72 6.95 36.01 1.10 5.72 0.60 3.12 8.05 41.73 5.20 |AsEiit: t =13cm




WEmEMNREF

el

Tk (#8h)
T " A B ‘ LT : EHUI-J:EE?%I EHUI-J:E/E%%I AERT P— . -
KB TIRGHES RETHEEHEBS ot M A BT HREERS ZBE T, REI(t=5cm)
= [ = [ = [ = [ = [ SER:

K |No. 14 + 14.80 1.10 2.05 1.10 0.60 3.15 4.90

1 |No. 15 + 5.20 1.10 5.72 2.05 10.66 1.10 5.72 0.60 3.12 3.15 16.38 5.20 |AsEiit: t =13cm
K |No. 15 + 1.10 2.05 1.10 0.60 3.15

1 |No. 15 + 12.70 12.70 1.10 13.97 2.05 26.04 1.10 13.97 0.60 7.62 3.15 40.01 12.70 |AsEiit: t =15cm
K#h |No. 15 + 12.70 1.10 8.20 1.10 0.60 9.30

1 [No. 16 + 7.30 1.10 8.03 8.20 59.86 1.10 8.03 0.60 4,38 9.30 67.89 7.30 |AshizE t =15cm
K |No. 16 + 1.10 8.20 1.10 0.60 9.30

1 |No.16 + 1.70 1.70 1.10 1.87 8.20 13.94 1.10 1.87 0.60 1.02 9.30 15.81 1.70 |As#fitt t =15cm
K# |No. 16 + 1.70 1.10 2.05 1.10 0.60 3.15

1 [No.16 + 14.20 12.50 1.10 13.75 2.05 25.63 1.10 13.75 0.60 7.50 3.15 39.38 12.50 |AsEiit: t =15cm
K |No. 16 + 14.20 1.10 5.25 1.10 0.60 6.35 3.20

1 [No.16 + 17.20 3.00 1.10 3.30 5.25 15.75 1.10 3.30 0.60 1.80 6.35 19.05 3.20 |AsEit: t =15cm
K |No. 16 + 17.20 1.10 2.05 1.10 0.60 3.15

1 [No. 17 + 2.80 1.10 3.08 2.05 5.74 1.10 3.08 0.60 1.68 3.15 8.82 2.80 |AsEiit: t =15cm
K |No. 17 + 1.10 2.05 1.10 0.60 3.15

1 |No. 18 + 20.00 1.10 22.00 2.35 44.00 1.10 22.00 0.60 12.00 3.45 66.00 20.00 [As#izE t =15cm
K |No. 18 + 1.10 2.35 1.10 0.60 3.45

1 [No.18 + 1.40 1.40 1.10 1.54 2.60 3.47 1.10 1.54 0.60 0.84 3.70 5.01 1.40 |As#fitt t =15cm
K |No. 18 +  1.40 1.10 6.00 1.10 0.60 7.10 2.75

2 |No. 18 + 4.40 3.00 1.10 3.30 6.00 18.00 1.10 3.30 0.60 1.80 7.10 21.30 2.75 |AsEit: t =15cm
K |No. 18 +  4.40 1.10 2.35 1.10 0.60 3.45 10.60

2 |No. 18 + 15.00 10.60 1.10 11.66 2.60 26.24 1.10 11.66 0.60 6.36 3.70 37.90 3.70 |AsEit: t =15cm




14!

T

T

A=1,495.21 m2

Tk (iBBh)
\ LT T CEEART T CEEART AHEAT
T | 4h
X WA B smTEwEs | RETESEES B T (RABE 0> B THEEES | AT, BE Tsom) RO "
E B | ®m o E A R E B R E B R E B R HER
& F | O 52143
BT
B (Congilizt)
TR (Ashfitt)
476.97 1,325.24
i TIE
L= 406.90m
#hoh
L=
#hoh
L= 406.90m 476.97 1,325.24 476.97 261.84 1,802.21
G
Jifi T3E R KE T, HET
FIEF
1TX L= 3.20m A=9.60 m2
FIEF
2T L= 28.70m A= 297.40 m2
K
1TX L= 375.00m




G1

&

T B

Tk (##5h)
K " A B ‘ L T . ﬁﬁﬂi-ﬂ%ﬂ‘%ﬁi EHUI-%E?”G%I) AHEBETLT P . &
xBTIRMES KB IEEHEIRS AR T (ks BT REEIRS B T (t=5cm)
g B i =t [ w5 i =t [ w5 i HE
[#FEI% 5em HATET 5]
B H|No. 1+  8.70 1.05 2.30 1.05 0.60 3.35
2 No. 2 11.30 1.05 11.87 2.45 26.83 1.05 11.87 0.60 6.78 3.50 38.70 11.30 [AsijE t =17cm
BeTEF FH | No. 2 1.05 2.45 1.05 0.60 3.50
2 No. 2 + 4.50 4.50 1.05 4.73 2.45 11.02 1.05 4.73 0.60 2.70 3.50 15.75 4.50 |AsEli%E t =17cm
B H|No. 2+  4.50 1.05 5.85 1.05 0.60 6.90 3.40
2 No. 2 + 17.50 3.00 1.05 3.15 5.85 17.55 1.05 3.15 0.60 1.80 6.90 20.70 3.40 |AstilidE t =17cm
B H|No. 2 +  7.50 1.05 2.45 1.05 0.60 3.50
2 No. 3 12.50 1.05 13.13 2.65 31.87 1.05 13.13 0.60 7.50 3.70 45.00 12.50 |AsijdE t =17cm
ReTEF FH | No. 3 1.05 2.65 1.05 0.60 3.70
2 No. 4 20.00 1.05 21.00 2.55 52.00 1.05 21.00 0.60 12.00 3.60 73.00 20.00 |AsEidt t =17cm
ReT®F FH | No. 4 1.05 2.70 1.05 0.60 3.75
2 No. 5 20.00 1.05 21.00 2.70 54.00 1.05 21.00 0.60 12.00 3.75 75.00 20.00 |AsEidt t =17cm
ReT®F HH | No. 5 1.05 2.70 1.05 0.60 3.75 11.00
2 No. 5 + 11.00 11.00 1.05 11.55 2.60 29.15 1.05 11.55 0.60 6.60 3.65 40.70 3.65 |AsthiidE t =17cm
& Gt LT 89.75
BER% AR
B (Confifid)
T B (Astiidt)
86.43 222.42
it THE
L= 82.30m
B
L:
B
L= 82.30m 86.43 222.42 86.43 49.38 308.85
/NEE
it THER: KET
Fe %
2T L= 82.30m A= 308.85 m2
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HEBDHEHEHESE
Tk (#8h)
. B o RELT I L(=120)- BRAR T | 4EMIT(t=100)- EIERSMT RERBEL TREEEL IR T AT (FA) P - =
(R EE S BBEES ek BHEIESY | RS EBEES (F=M722L) RAT.(HRMR2L) # @ L(t=3cm) # /8 T.(t=5cm)
E B o E B o g B o E B i g B o E B i g B o E B IR LR
[18 1% 5em HiALET 2]

#iE 0.90 2.10 1.50 3.00 3.00 1.30
#H# |No. 3 +  6.00 1.30 0.90 117 2.10 2.73 1.50 1.95 3.00 3.90 3.00 3.90 1.30 [AshiliZ t =3cm
Al 0.90 2.10 1.50 3.00 3.00 1.30
H# |No. 4+ 4.60 1.30 0.90 117 2.10 2.73 1.50 1.95 3.00 3.90 3.00 3.90 1.30 [AshiliZ t =3cm
Al 0.90 2.10 1.50 3.00 3.00 1.40
H# |No. 5 + 7.60 1.40 0.90 1.26 2.10 2.94 1.50 2.10 3.00 4.20 3.00 4.20 1.40 [AshiliZ t =3cm
#iE 0.90 2.10 1.50 3.00 3.00 1.85
il |No. 6 + 10.40 1.85 0.90 1.67 2.10 3.88 1.50 2.78 3.00 5.55 3.00 5.55 1.85 |AshiliZ t =3cm
Al
#iE [No.
Al 0.90 2.10 1.50 3.00 3.00 1.85
#H# |No. 7+ 16.00 1.85 0.90 1.67 2.10 3.88 1.50 2.78 3.00 5.55 3.00 5.55 1.85 |AshiliZ t =3cm
Al 0.90 2.10 1.50 3.00 3.00 1.90
H# [No. 9 + 270 1.90 0.90 1.71 2.10 3.99 1.50 2.85 3.00 5.70 3.00 5.70 1.90 [AshiliZ t =3cm
Al 0.90 2.10 1.50 3.00 3.00 1.35
il |No. 10 + 19.10 1.35 0.90 1.22 2.10 2.83 1.50 2.03 3.00 4.05 3.00 4.05 1.35 |AshiliZ t =3cm
Al 0.90 2.10 1.50 3.00 3.00 1.35
il |No. 11 + 13.50 1.35 0.90 1.22 2.10 2.83 1.50 2.03 3.00 4.05 3.00 4.05 1.35 |AshiliZ t =3cm
Al 0.90 2.10 1.50 3.00 3.00 1.35
#H# |No. 12 +  8.40 1.35 0.90 1.22 2.10 2.83 1.50 2.03 3.00 4.05 3.00 4.05 1.35 |AshiliZ t =3cm
Al
#iE [No.
#iE 0.90 2.10 1.50 3.00 3.00 1.35
il |No. 13 +  7.90 1.35 0.90 1.22 2.10 2.83 1.50 2.03 3.00 4.05 3.00 4.05 1.35 |AshiliZ t =3cm
#iE
#iE [No.
Al
#iE [No.
Al
#iE [No.
Al 0.90 2.10 1.50 3.00 3.00 1.80
il |No. 15 + 15.20 1.80 0.90 1.62 2.10 3.78 1.50 2.70 3.00 5.40 3.00 5.40 1.80 [AshiliZ t =3cm
Al 0.90 2.10 1.50 3.00 3.00 1.80
il |No. 15 + 19.20 1.80 0.90 1.62 2.10 3.78 1.50 2.70 3.00 5.40 3.00 5.40 1.80 [AshiliZ t =3cm
Al 0.90 2.10 1.50 3.00 3.00 1.30
il |No. 16 + 17.20 1.30 0.90 117 2.10 2.73 1.50 1.95 3.00 3.90 3.00 3.90 1.30 [AshiliZ t =3cm
Al
#iE [No.
Al 0.90 2.10 1.50 3.00 3.00 1.90
il |No. 18 +  4.90 1.90 0.90 1.71 2.10 3.99 1.50 2.85 3.00 5.70 3.00 5.70 1.90 [AshiliZ t =3cm

No.

No.

No.

No.

No.

No.




L1

HEmBEHERESE
T (#8h)
% o o RELT HHI L(t=120)- B{AR T | 3MHIT(t=100)- EEREAET REEEELT AREEET AHIRT AHEIBL(EA) PO -
’ fissEsy HBHIES - HBE RS | MRS HBEBY (FBRMRL) RAT (HRHRL) #BT(t=3cm) #JBL(t=5cm) ;
g B [ E B [ g B [ E B [ g B [ E B [ g B [ E B [ JER
& & s I 43.60
BERREHAERR
B (Confilizk)
19.65 45.75 B (Ashli%E)
it 4 e
L= 21.80m 19.65 45.75 32.73 65.40 65.40
INEE
Jiti TAE e g 1L
L= 21.80m A= 65.40 m2
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% T

i

B &

By Z—{EIlRER KR (fHi5h)

[ REFERE |

T AT 7V, Codlid il = 15<t=30cm
t=15cm

t=15cm

0.023

0.023

0.023

0.023

M THER: (m)  EHZEGITTRS (m)
89.75 m X 0.17 =
521.43 m X 0.11 =
43.6 m X 0.03 =
m X =

0.35

1.32

0.03

0.00

m3

m3

m3

m3

1.70 m3




